10.1 Amplitude and Midline

PRACTICE

| State the amplitude and midline of the following trig functions.

|

1. f(x)=3sin(x) — 4

2. f(6) = —;cos(6) + 1

3. h(x) =sin(x) — 2.5

Amplitude: 3 Amplitude: '/'-l- Amplitude: \
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Amplitude : i Amplitude :L Amplitude : '/_a

Midline: W = -1 Midline: _\W = & Midline: _ W= O

7. f(x) =4 + 2 sin(x) 8. y = —sin(x) 9. f(6) = 1—3sin(h)

Amplitude: S _ Amplitude: _____ Amplitude: S

Midline: %'— ‘f Midline: 4 =0 Midline: Y | same as

same as

L0 = 1g;ﬂ($\+¥

£(6)= ~35ia(®)*)

| State the amplitude and midline. Graph the trig function on the interval 0° < x < 360° |

10. f(x) = 3sin(x)

Amp = N Midline = U): 0

1l. f(x) =2cos(x) +1

Amp= Q. Midline = 10'-|

12. h(x) = —3sin(x) + 2

Amp = '/,_‘ Midline = lj e |
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| State the amplitude and midline. Graph the trig function on the interval —2m < x < 2m

13. f(x) = 2sin(x) — 3
Amp=9  Midline = ¢ * -3
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14. f(x) = 2cos(x)

Amp= Q  Midline = 4= |
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15. h(x) = —sin(x) —5
Midline = lo Clha

--------

--------

?:.\T..,f\....,b

........

........

»»»»»»»»

........

o/

o

16. f(x) = 4cos(x)

Amp= Y4  Midline = Yz 0

17. f(x) = =2 cos(x) + 3
Amp= X\  Midline = 5:3
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18. h(x) = 2sin(x) — 2
Amp= Q. Midline = Y= o |
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| Write the equation of the rollowlng_gg functions.

19. Sine curve

Amplitude =7

Midline is y = 2

fx) = q

sin0C) ¥ %

20. Cosine curve

| =

Amplitude =

Vertical Shift d

£(6) = A cos (8)-3

own 3

Amplitude =5

Midlineisy =1

21. Negative sine curve

F = = sia(xd +!
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foy = Asia(O)+l fa) = 3eos (x) f@)= - sia(0) ¥
_Find the following: _ _ |
25. Exact Value of tan 30° 26. Approximate Value of sin (g) 27. ]J;lzc ;-'—imc;‘cip; D£ e
X)=x X X —
| §3 ﬁ calculator 22 0.4733 3
> =, = = 0 F Y FI) -9
‘ ‘ ﬁ (3 3 (make sure you are in radians!) ‘r(‘)
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